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o Please check that this question paper contains 11 printed pages.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

o Please check that this question paper contains 30 questions.

e Please write down the Serial Number of the question before
attempting it.

o 15 minutes time has been allotted to read this question paper. The question
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General Instructions :
) All questions are compulsory

(it)  This question paper conszsts of four Sections A B Cand D.
Section A contains 8 questions of one mark each Section B is
of 10 questions of two marks each, Section C is of 9 questions
of three marks each and Section D is of 8 questions of five
marks each.

(iii)  There is no overall choice. However, an internal choice has been
provided in one question of 2 marks, one question of 38 marks and
all the three questions of 5 marks weightage. A student has to
attempt only one of the alternatives in such questions. '

(iv) Wherever necessary, the dzagrams drawn should be neat and
properly labelled.
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Qg A
SECTION A

1. %ﬁﬁwaﬂ%% T mﬁ%ﬁwmmw@@ﬁmwélﬁw"
i 2 | L | 1

Banana produces fruits but is propagated only by vegetative means.
Why is it so ?

2, Tmr =i, ﬁﬁwﬁmmﬁ@ﬁm%ﬁéwmwﬁﬁmﬁ
i % e & e fRA 2 | 1

Why, in a test cross, did Mendel cross a tall pea plant Wlth a dwarf
pea plant only ?

3. Wﬂﬂa&mwﬂ?ﬁaﬁﬁmﬁmmmé7 | 1

Why is the South Indian sugarcane preferred by agrlculturahsts ?
4, T=F W AN O ol swaer § spoll wfiefist s i aaRe | 1

Mention the role of pioneer species in primary succession on rocks.

5. UiwheA ¥ N A (RAwie) & Sifers fram W Afves SEREE (dsd
) &1 F e B 2, fafee | 1

Mention the effect of global warming on the geographlcal dlstnbutlon
of stenothermals like amphlblans

6. ﬁw%qﬁ@r%aﬂwﬁwéﬁm mﬁaﬁtwﬁmwaﬁm%ﬁ 3wy =
a9 fafeu | | 1
Mention the useful as well as the harmful drug obtamed from the
latex of Poppy plant.

7. m%ﬁaﬁﬁzﬁwﬁamﬁﬁaﬁ%aﬁﬁ(ﬁwﬁ)%aﬁﬂﬁaﬁwm
W feuoft SifST | i L 1

Comment on the similarity between the flippers of dolphins and
penguins, with reference to evolution. '

8. mﬁﬁmmﬁimaﬁmwwmmml 1

Mention the location and the function of Leydig cells in humans.
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SECTION B

9. TEEl ¥ Wes wfawn F fAU SUEE SR seRY Yem w9 g sifvest ¥
fafi s & W fafey | 2
Name the different types of cells providing cellular barriers
responsible for innate immunity in humans.

10. =7 % 39 s @ 9m fofer 5 e @ il st 2 | 7% fd fiea &
e ¥ R e i A @ 2 2

Name the product of fertilisation that forms kthe kernel of coconut.
How does the kernel differ from coconut water ?

11. = S @ 6 omgfes Shed sl § eftesl (RRR=E) & 39T TS aTevEs |
mwméf?ﬁa&mgﬁmwﬁww«iaqqummﬁﬂﬁ?%wélﬁfm
FE AW HU G TEOER 2 2

Refrigerants are considered to be a necessity in modern living, but
are said to be responsible for ozone holes detected in Antarctlca
Justify.

12. T @ W Refd § ® o SRA W 0E A ARG T | g9 Freferea w
BIEICTRCIIS 2
G)  Tafe gigarers Sie
(i) T T WA W g TR (FREW)
(ii) 39 (IWRY) SF
(v) frms =
Draw a schematic diagram of lac operon in its ‘switched off’ position.
Label the following :
(1) The structural genes

(ii))  Repressor bound to its correct position
(iii) ~ Promoter gene
(iv) Regulatory gene.

13. (a) crylAc S o Tt % R @E F B TER AT T § 7

(b) TR FH (M) T WA F 0 ¥ @ S oW e d
AT | 2

(a)  How does crylAc gene express itself in its host ?

(b)  State the role of this gene in controlling the infestation of
bollworm.
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14, o T S0 SR weh g & F Rl T W S ? e | 2

Why are small birds like humming birds not found in polar regions 7
Explain.

15.mwﬁ?ﬁéﬁﬁwﬁ@ﬁﬁdﬁuwﬁm%? 2
| argaT
ol UErEl ‘HéLz’% wy § o i R s @ 2

How are biofortified maize and wheat considered nutritionally
improved ? :

; OR
Why is an antibody represented as ‘HyLy ?

16. wmaﬁaﬁaﬁmﬁgﬁmsﬂmaﬁqﬁmﬂwhﬁéwﬁg?%m
Ww-ﬁs%ﬁwﬁqmmmw”7 2

Write the cellular contents carried by the pollen tube. How does the
pollen tube gain its entry into the embryo sac ?

17.@@:&&@%%%%6@@&%%%@1@%%@%% |
fifET | TR AT T Y TR S H BN TG B € 2 2

Name the parasite that causes ascariasis. Mention two diagnostic
symptoms of the disease. How is this disease transmitted to others ?

18.WW%WHHT{@W@«WWH@%W%7 2
(a)  SFREm S ¥ DNA & Jgaht |
(b) - TRERET DNA & deiftae S § g 99 57 9 |
How can the following be made possible for biotechnology experiments ?
(a) Isolation of DNA from bacterial cell.

(b) ,Reintroduction of the recombinant DNA into a bacterial cell.
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SECTION C

19. T IR # STEd (ZORFeF) ¥R TRmRT | . 3
1o

Wﬁwﬁﬁ?wqﬁﬁqwsﬁm%DNAmmmaﬁ
FEfY gEies R | |
Explaln the process of transcription in a bacteria.

G OR |
Forenéic department was given three blood samples. Write the steps

of the procedure carned to get the DNA fingerprinting done for the
above samples.

20. ST SRR SR AHE SQRM RN TER GYomuT fR ST 2, geemew | 3

Explain the synthesis of genetically engineered human insulin.

21. 3 HHE o § R swthdqﬂﬁﬁwﬁmﬁaﬁlﬁw%aﬁé

’Hﬁia@ ST | 3
List the reasons that account for the greater biological diversity in
tropics.

22. fre & ¥ &% F er-aT R w1 2, e | 3

@ T & Tl % 3 (Fee)

(b)  YHE F fR F ARSHE

(0) TSR & iR = Sew

Mention the function of each of the following :
(a)  tassels of corn-cob

(b)  mitochondria in sperm

(¢)  tapetum in the mici"08porangium

57/2/3 6




23.

24.

25.

26.

27.

(a) vmweﬂ?: s w1 am  fafee os yEE ¥ a6 OBRa s

b)  TRT S wEET % i R wEe B Th A SgErs e oo
O § F-En T 9fed T e 9§ 2

(a) Name the Indian scientist whose efforts brought ‘green revolution’
in India.

(b)  Mention the steps that are essentially carried out in developing a

new genetic variety of crop under plant breeding programme.
el # 218 TR g@ﬁﬁq)ﬁﬁajﬁrmméaﬁré,rmwﬁmﬁ
difeq =afth § T¢ S It H% 9N [ s R |

Explain how does trisomy of 21%% chromosome occur in humans. List
any four characteristic features in an individual suffering from it.

frorg @1 BT G g % ofeR SiH IReRaT & oRedd @A @ S rfsEl
ety ¥ 9, afes oS @ gearEfEl § @9 @ | DDT % ge § W s @
5T THR T8 SEUA ST TR £ 2 U9 @, s AW & A9 ¥ o R R
e g ], 98 off Fasy |

Evolution is a change in gene frequencies in a population in response

to changes in the environment in a time scale of years and not
centuries. Justify this statement with reference to DDT. How does the
theory of Hugo de Vries support this ?

DNA ferfifin & fow DNA @vel &1 ffg TR @et iR gog feen sm @ 2
FIHET | |

How are the DNA frégménts ,séparated“and isolated for DNA
fingerprinting ? Explain. ' -

AIDS % 919G TFE YRR § fRY URR AW S § 2 3% Siad-wk 9
aﬁﬁwmw@qﬁ%ﬁwﬁﬁﬁﬁﬂmm,mwmaaﬁ%?

How does AIDS virus enter the human body ? Describe its life cycle.
Why does this infection shatter the immunity of the victim ?

L
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SECTION D

28. (a)  AgasioEl (UREEHA) H Qe A9 BT ¥ oRue T 1 Y A
ST & 7

(b) UF URUEH WM & & GEAT F U FRC R TUE S-Sy s

T AMifhd 3RE TR |

Hadl

N

ﬁﬁqarz%ﬁamawmﬁﬁrqaﬁxaﬁg@m@wﬁ%mﬁﬁm:

(i)  UEEH X F9E0 fF ‘9’ = g |

(i) ‘¢ A I ITH F FART |

(i) W @ F vEEE B |

(iv) ‘@& a9 3R fomfam 29 & S ) e e |
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(v) P F TH I Y G TFEC AR IGH IG-3F AN H AR T
W Y S Y e B 8
— S e Tl WU
— o 3T T A s e E 5

(a) How does microspore mother cell develop into mature pollen
grain in angiosperms ? '

(b)  Describe the structure of a mature pollen grain and draw a
labelled diagram of its two-celled stage.
| | OR

Study the illustration given below and answer the questions that
follow :

i) Identify ‘a’.

(i1) Name and state the function of ‘.
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(1i1)
(iv)

(v)

2. (@
(b)

(a)

- (b)

(a)

(b)

(a)
(b)
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TIdentify ‘d’.

Explain the role of hormones in the formation and release of ‘a’.

Draw a diagram of b’ separately and label the parts :

— that helps its entry into ‘@’
- — that carry genetic material;

— that helps in its movement.

Wﬁﬁ@%mmxmmg@mWWMW

Tl B & 2

frell ¥t & SN % g SO 8 g §, v w1
S1gar

W F o T ST R YRR AR AT 2 sk o e ww
meww%7mt

FHROT qq:a@eaanskﬁmmaﬁwqu@w
S

Name the green house gases. How do they affect the life on
earth ?

Describe the causes of eutrophication of a lake.
OR

How does primary succession start in water and lead to the
climax community ? Explain.

Explain giving reasons why thermal power plants are not
considered ecofriendly.
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30. (a)

(b)

(a)

)

(a)
(b)

(a)

(b)
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Explain the "procesks' of Natural Seléction that leads to Speciation.

List the three different ways in which this process dperates in
nature. Explain any one of the processes.

OR

Four children with four different blood groups are born to parents
where the mother has blood group ‘A’ and the father has blood
group ‘B’ Work out the cross to show the genotypes of the
parents and all four children.

Explain the contribution of Alfred Sturtevant in ‘Chromosome
mapping’.
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